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[3] [A]
T -1/ PART -1
91« {9 9 fRrenems / CHILD DEVELOPMENT AND PEDAGOGY

3T : Rt g7 % a7 7 & [ qag ST [Awey g

Direction : Answer the following questions by selecting the most appropriate option.

1. frafatea 8 & dH-41 oM @ @@ 1. Which of the following is not the
Qe 7&f & ? true characteristic of Development ?
(1) fqerg & qRads & 3 (1) Development involves changes
(2) URME e wad e 9 (2) Early Development is more
SIRED qﬁ'ﬁ("f B & critical than later development
QO REEIGIRED Ye GZIWTI B (3) Development Patterns are
g unpredictable
4) fem ¥ ERIESCNE O | | (4) There are individual differences
g in development
2. fy=ifofag & @ d-8 WA & 99 2. Which of the following is indirect
B T fafer T 7 method of measurement of motives ?
(1) ar E[ﬁ qbriehl (1) Sentence completion technique
(2) TTER (2) Questionnaire
(3) =% foree (3) Checklist
(4) G (4) Interview
3. ‘O GUA B SMYR FM e & ? 3. What are the basis of 'Self Concept' ?
(1) |G T (1) Social Roles
(2) R gfeHn (2) The Body Image
(3) SWE (1) T (2) (3) Above (1) and (2)
(4) I ¥ 9 Fig T2l (4) None of the above

Level-3/9201 P.T.O.



[A]

Freifafad & & &9-41 97 8/ S&d
FHagE! F SR el i R

T g
(1) SATBEd
(2) ST

(3) I WI B Sfsd HEEN T
T

(4) T & MR W s & 9T
S A

16 a4 & AY T ARG H AR
RIS b &1 T & 7

(1) 750 I & 900 TH
(2) 1200 919 § 1400 7
(3) 1000 ¥ § 1200 7H
(4) 800 IH & 1000 IH

-8 QS W A J&®
R sifvgw § Jafecs o @
JeM+Th &1 @ faae Jeqa foam o ?

(1) Sffemare

(2) &t wos &ve

(3) SiF s

(4) WX WiRkE TMee

frafofed & & H-a1 THESE &
Jae qUHT § 7

(1) &9

(2) SierEA

(3) TERR T1 SATHHIT

(4) RRTHRTT

Level-3/9201

[4]

Which of the following is not the
characteristic of introverted thinking
type personality as given by Jung ?

(1) Self Centered
(2) Optimistic

(3) Absorbed in his own intellectual
pursuit

(4) Support Theory with facts

What is the approximate weight of
the Brain upto 16 year age ?

(1) 750 gm to 900 gm
(2) 1200 gm to 1400 gm
(3) 1000 gm to 1200 gm
(4) 800 gm to 1000 gm

Which
scientific description of 'Individual
differences' in his Book 'Hereditary
Genius' ?

(1) Allport

(2) Biggi and Hunt

Psychologist ~ presented

(3) Jean Piaget
(4) Sir Fransis Galton

Which of the following is Direct
Method of Adjustment ?

(1) Repression
(2) Regression
(3) Withdrawl and Submissiveness

(4) Rationalization



8.

10.

11.

frefofeg & @ #9-d
EAESE N A KU A I R 7
R & SUY @ed WX &

e B 7

(1) 3v8 TG SR

(2) gmIiSTR STIeY

(3) ITH TSI/ STHT TSH!

(4) FA AR IR e
frfafad & & d9-6 fhaREer &
fqer & ?

(1) Gameres Rera

(2) o AR T

(3) FIEE W fae

(4) A YOI &l e

134

ST TN AUl HIN B AT TR
femet @I offesM & S= ™ S
ey, Head & ¢

(1) fevreq faseioeT
(2) Yl fem FEEA (IEP)

(3) APRIE e
(4) qH e

Frafofed & & SH-a1 ol |fa &
Sk

(1) e

(2) a4

(3) g

(4) TE 9EREl & el 999 W S
HET

Level-3/9201

[5]

10.

11.

[A]

Which of the following orientation
falls under the post convention level
of Moral Development Theory
propounded by Kohlberg ?

(1) Punishment and Obedience
(2) Social contract
(3) Good boy/Nice girl

(4) Law and Social order

Which of the following is not the
characteristic of Adolescence ?

(1) Emotional Stability

(2) Contrasting Mental Moods

(3) Anxiety of Vocation

(4) Feeling of Hero worship

A statement of knowledge or skills

that student should master after
instruction, is known as :

(1) A content analysis

(2) An individualized educational
programme (IEP)

(3) An instructional objective

(4) General Aims

Which of the following is not the
symptoms of Good Memory ?

(1) Rapidity

(2) Average retention

(3) Accuracy

(4) Recall of right material at right
time

P.T.O.



[A]

12.

13.

14.

15.

16.

Frefafad & | dH-a1 @9@d 93
%WWW@W
T e ?

(1) wfefe
(2) STgHe

(3) SR
(4) MBS SARRH

Jeed 7 AHRE T F MR W
ORI H AG L TS TSI
Rl & A STgU ¥ S § 7

(1) 7-1-1 2) 1-7-1

(3) 1-1-7 (4) 4-4-4

R & AFER ‘Aide
Pl el ot -8t & ?

(1) afitem Brar 9 S

(2) 9BdM SAM YA Hifel

(3) WG T faw™

(4) Icqressiierar a9 Re

Frefafed & & aF-w Foee a@
e GoTTeTRdl B O 787 & ¢

(1) Serteer (2) IgHa

(3) TR (4) AR
frfafeg & @ #m-@1 ofrm 3
e TRl &1 TR 787 & 7
(1) 99 ST

(2) HHEH R

(3) ARt T

(4) I TR

Level-3/9201

[6]

12.

13.

14.

15.

16.

Which of the following concept is not
related with  Bandura's  Social
Learning Theory ?

(1) Modeling

(2) Adaptation

(3) Imitation

(4) Observational learning

What is the ranking ratio given by

Sheldon for predominant endomorph
person according to physique ?

(1) 7-1-1 2) 1-7-1

3) 1-1-7 (4) 4-4-4

Which is the fifth stage of Personality
development according to Erikson ?
(1) industry v/s inferiority

(2) identity v/s role confusion

(3) intimacy v/s isolation

(4) generativity v/s stagnation
Which of the following is not the

element of creativity as given by
Guilford ?

(1) Fluency
(3) Flexibility

(2) Incubation

(4) Originality
Which of the following is not the
type of positive transfer of learning ?
(1) Lateral transfer

(2) Sequential transfer

(3) Horizontal transfer

(4) Zero transfer



17. F=fafeg § § a9-@ BEE 30

18.

19.

20.

Y HAICITE A 78 & ?

(1) Ngerarean

(2) @R STae

(3) TaraET

(4) g

e et 6 ‘Aifee Siifed

%ﬁir—@lr—g’aﬁ % S H OIS (G
n 79

(1) & faferd HegTa
(2) & HitdH e
(3) e ITEEAT
(4) ferm S=q

=g & @ S9-a1 e a=fkem
T ofeee o gl fafr 787 2 ?

(1) a9 gRecs & & srear dimr
iy

(2) ReX SEuss 1 faf
(3) T ST At qfe Al
(4) AfFFR AfER TR

9§ H WYY, Hed
YIS & SR & &l T SR
B 78 Freifed #§ q feus gfed

& GaraH AR B 7
(1) (2) aEMEH
(3) WIS (4) 93T

Level-3/9201

[7]

17.

18.

19.

20.

[A]
Which of the following is not the
Freud's Psychosexual stage ?
(1) Phallic stage
(2) Autonomy stage
(3) Anal stage
(4) Oral stage

Who stated that "Psychology is the
Positive Science of conduct of living
creatures" ?

(1) Sir William McDougall
(2) Sir Francis Galton

(3) Max Wertheimer

(4) William James

Which of the following is not the
type of "Psychophysical Method" of
study of Educational Psychology ?

(1) The method of minimal changes
or method of limits

(2) The method of constant stimuli

(3) The method of average or mean
error

(4) Modifying
attitude

the individual

'Knowledge is constructed by
transforming, organizing and
re-organizing previous knowledge.'
This best explains the idea of which
of the following ?

(1) Piaget
(3) Freud

(2) Vygotsky
(4) Bandura

P.T.O.



22,

23.

(1) @B
(2) HATHHTHRT
(3) U

(4) ST

Uk IS & NS YA ferEnieiat
F UGN G B P TgIEd ded,
BHd H Tgaed  Bedd, U9 @
g U9 I A 4 Rl | ared
T SgaE el 9 AeHd S A
TE fhH THN & HARFH MR 6
JEEIT B 7

(1) g1 A=<

(2) FMHE T
(3) I SR
(4) TEAT ST

frfafeag & & dF-& SEu @
TRy /T faRe § 7

(1) sl

(2) MEd

(3) fom=men

(4) TET I Ity

Level-3/9201

21.

22,

23.

the
Development Theory of Piaget, "The

According  to Cognitive

basic building block of knowledge' is
called :

(1) Schema

(2) Assimilation

(3) Accommodation

(4) Equilibration

An English teacher taught their
students that plural of Cat is Cats,
plural of House is Houses, plural of
Pen is Pens, in this manner student by
mistake made plural of Mouse as
Mouses. This is the example of which
type of transfer of learning ?

(1) Positive transfer
(2) Negative transfer
(3) Zero transfer

(4) Vertical transfer

Which of the following is objective
determinants of Attention ?

(1) Interest
(2) Habit
(3) Curiosity

(4) Duration of stimulus



24.

25.

26.

27.

s R EUN | o1 M1 £ B B o
Rt KO B G T G xR £ e S
e & ?

(1) it o1 st

(2) 9 T gHR fE
(3) Y Frgr=

(4) ARfasAToTeTs Rt

fr=foifeg & @ S9-91 ‘9999 99RaS
Hedr Sl H e e SR © 7

(1) 52 8 67
(2) 36 9 51
(3) 20 § 35
4) 20 & F=

frffead & @ &9-@ EER &)
Yo AR fa@rd 8 Siad Al &
TER & e ?

(4) TR e ST arT ST
Ao = g1 ghEer § fem #E

g9am & g o € ?
(1) 10 2) 12
3) 15 (4) 28

Level-3/9201

[9]

24.

25.

26.

27.

[A]

Murray's "Thematic Apperception

Test" is related to which theory of
personality ?

(1) Trait theory

(2) Trait and Type theory
(3) Type theory

(4) Psychoanalytical theory

Which of the following is I.Q. Range of
'Moderate mental retarded' children ?

(1) 52to 67
(2) 36to 51
(3) 20to 35
(4) below 20

Which of the following is not the
life the
development of personality given by
Adler ?

type of styles  for

(1) Lazy type
(2) Ruling type
(3) Go-getting type

(4) Escaping type

How many cards are wused in

Rorschach Inkblot Test ?
(1) 10 2) 12
3) 15 4) 28

P.T.O.



[A]

28.

29.

30.

fr=fofeg & & sF-a1
9 @=R] 3
JhR TET 8 ?

(1) Jsrt<s
(2) T
(3) FHATTR

(4) el

fr=fofeg & @ @9-a1 9FeEs 3™
ye ARFT & Mor/TeEE FET & ?

(1) TR &1 +am

(2) FA9E H I

(3) AFE® gir &1 |

(4) 999 &1 |
Frefafad & & S-d1 Resireeen &
el e 7@ e ?

(1) fepamaeen EIIEEI] AR
TIEHEE & S B qRadt srawer
gl

(2) fpaivae # wh ST RIS
feafer 2 B

(3) ThINaR JTEHERT  H  SEdT
B Bl

(4) FREen  grdioaretl @ {HY
BT Bl

28.

29.

30.

Which of the following is not a type
of Personality given by Sprenger in
values point of view ?

(1) Theoretical
(2) Economic
(3) Asthetic
(4) Athletic

Which of the following is the
subordinate law of learning given by
Thorndike ?

(1) Law of readiness
(2) Law of exercise

(3) Law of mental set

(4) Law of effect

Which of the following is not the
true characteristic of Adolescence ?

(1) Adolescence is transitional stage

between childhood and

adulthood.

(2) In adolescence there is a vague
individual status.

(3) Adolescence is the threshold of
adulthood.

(4) Adolescence is a time of realism.

Level-3/9201



[11] [A]
HET - 11/ PART =i
a1 (R @& 30) / LANGUAGES (HINDI & ENGLISH)
[ &Y/ HINDI ]
3T : R g7 % a7 &7 & [ qag ST [wey g
31. froEm® ¥aa™ g a9 BifeT 35. =1 & § ‘9%’ = w9 7@ o ?

(1) 39 o7 oThS% Al & (1) ag®m (2) srl

w2 (3) & ) B8
(2) T T & FW A R ,

) 36. STiareh S g a9 78 ¢ -
6)wqﬁwwaaa§| (1) STeThet &1 TeTgdl 9gd e &
(4) ST FIT TET T (2) St A ¥ oA w @ &R

3. i 3fe & orger RrebeT T - i
3) FA-F qUgA & orSEA 9
(1) TR ()mﬁ% EUE g
@ At (4) T orgv@ fem & 5 o8 SO @
(3) Hrewer & T 2
(4) s 37. %9 fgweq § oW 9@ &1 @ 78
3. fAm @ sfe ¥ g AT @ gomE ?
Bifey (1) e (2) arligaX
(1) SiS-Srer 3) qed 4) Rrfeq
(2) ATHFT-STIHS
(3) SR 38. & a9 H TIT HIOT
(4) TEBR-ToREBR (1) 98 HM H1E IHA q & & THha
2|
34. fhE e § ‘S 9o H W 78

g 7
(1) Sffa
(3) B

(2) aRIq
(4) Sfed

Level-3/9201

(2) ¥ S ggare fham

(3) HUAT TG &§F B B FA B
4) & & & A g B

P.T.O.



[A] [12]

39. HUW F 3fc q§ oG fabed Bifey 43. fpa faseq & srerdivE w99 ® °
(1) AT - HTT TYEH (1) faeere
(2) Ho-TEHN - H9ER &4 (2) FANGEF
(3) FmIE - STURM qgeT (3) sTqERar
(4)F‘|Ti-r|ﬁ_zb_l§|EREF‘;lsr (4)@'@:{
40.WQT%WQEBQE3€[§&Q i & 7 IR :
P o 44. TTF % I @ FFGIT g+
(1) ToT + 3% = TERYS
(1) Roell 1 & ST=FId ST At Big .- .
TEA HAT - A<TH (2) I + 3% =
(2) FEEHR T ST AT S ) e
e (4) TR + 9 = utE"
(3) fom fobell ey & - ST 45. T fobew & ‘o IUEE BN IENT gOT
(4) 5@ a9 fear @ & - oifie &7
. (1) anfremes
41, ANRET HegErh Gy g @) T
() fBd ad & gam d 3@ SR
e 7 g (3) s
(2) i & drg-a1 T R (4) S

(3) R %M Jo & FHIA B
(4) GR 3T SAHATE B I T B

42. THHE fhAT gHT a9 AT
(1) FrEmr q4kT % 9’ e © 4
(2) wBfeEr aeme § 4T @ 2
(3) o1E% HSH W 2T T© o

OEGEE FERECERICSIE

Level-3/9201



46.

47.

48.

[13] [A]
[ S135ft / ENGLISH ]
Direction : Answer the following questions by selecting the most appropriate option.
Choose the part of sentence that is 49. Fill in the blank with the correct
grammatically incorrect : present perfect continuous tense :
That's twice I've been forgetting to W_ho """ o WS coming to see me
bring my diary to work this week. this morning ?
(1) That's twice (1) you should say
(2) I've been forgetting (2) did you say
3 did said
(3) to bring my diary (3) you did sai
i (4) did you say that
(4) to work this week
o ) 50. Fill in the blank with the correct
Fill in the blank with the correct f . )
fon - present perfect continuous tense :
OpHon - . He ......... for five hours.
Of the two Novels, this is ............. . (1) been slept
(1) interesting (2) is sleeping
(2) more interesting (3) been sleeping
(3) interested (4) has been sleeping
(4) much interesting L
51. Fill in the blanks :
Change the narration : The growing number of visitors
He said, "I've been spending a lot | = the footpaths.
more time with my children." (1) are damaging (2) is damaging
(1) He told me that he had been (3) were damage (4) was damaged
spending a lot more time with o )
52. Fill in the blank with the correct

his children.

(2) He told me that he is spending a
lot more time with my children.

(3) He told me that he had spent a
lot more time with his children.

(4) He said that he spends a lot more
time with his children.

Level-3/9201

present perfect continuous tense :
She is one of the few people ........ .
(1) who I look up to

(2) whose I look up

(3) T'look up to

(4) Both (1) and (3)

P.T.O.



[A]

53.

54.

55.

56.

Choose the option and arrange the
following sentence in the correct
order :

I.  Resigned

II. To sack him

III. Had he not

IV. We would have been forced

(H IV, 1ILILT (2) ILIL LIV
3 IV, ILLII 4) IOLLIV,II

Change the sentence into passive :
Someone has picked my pocket.

(1) My pocket is picked.

(2) Somebody picked my pocket.
(3) My pocket pick by somebody.
(4) My pocket has been picked.

Choose the grammatically correct

sentence :

(1) No reached the
station and the train arrived.

sooner Wwe

(2) No sooner did we reach the
station than the train arrived.
(3) No sooner did we reach the
station then the train arrived.
(4) No sooner did we reach the

station the train arrived.

Fill in the blank with the correct
option :

............ , they slept soundly.

(1) Hot though was the night air

(2) Hot though the night air was

(3) Hot was the night air that

(4) Hot although the night air was

[14]

57.

58.

59.

60.

Fill in the blank with the correct
present perfect continuous tense :

thinks that Julie should be
given the job.

(1) neither of us

(2) practically everyone
(3) A no. of people

(4) both (1) and (2)

To have 'a bee in the bonnet' means :
(1) to know perfectly

(2) something you are obsessed with
(3) not to take anything seriously
(4) to deviate from the point

Choose the part of sentence that is

grammatically incorrect :

The world's supply of oil is soon
running out.

(1) The world's
(2) supply of oil
(3) 1s soon running out

(4) both (1) and (2)

The word 'juncture' means :

(1) in a joyous manner

(2) to put in danger

(3) to sound harshly

critical

(4) point rendered

circumstances

Level-3/9201



[15]

[A]

AN - Il / PART Il
UM a9 / GENERAL STUDIES
[ AT ARG, diiced STHEHAT a9 QM 5 T4 STEM / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Uk %< 9 H, 'DISTANCE' &I
'IDTATOEC' fer smr 2 &R
'DOCUMENT' @& 'ODDMUFTN'
forer e B, @ 3 EHE HT A
'THURSDAY' &t ferfar SR :

(1) HTRUDSYA
(2) HTVSREYA
(3) UHVSTEYA
(4) VIRUDSZB

FAA 10 HeX I B AN T 2
T8l ¥, 98 IR H AR 6 HeX T
3l B @@ @ & oY 3 Hiex Fom
3l 98 U e g & dest A
P Ram A 8 ?

(1) wig=w

(2) SRT-uiEd

(3) SWR-qd

(4) aferor

aé%amﬂﬁaﬂﬂwﬁm?ﬁeﬁ?

(1) 79,800
(3) 80,000

(2) 80,200
4) 79,600

Level-3/9201

61.

62.

63.

In a code language, 'DISTANCE' is
written  as TDTATOEC' and
'DOCUMENT' is  written as

'ODDMUEFTN', then in same code
language, 'THURSDAY' will be
written as :

(1) HTRUDSYA
(2) HTVSREYA
(3) UHVSTEYA
(4) VIRUDSZB

Kamal walks 10 m towards North.
From there, he walks 6 m towards
south. Then he walks 3 m towards
East. In which direction is he with
reference to his starting point ?

(1) West

(2) South-West

(3) North-East

(4) South

In the first year, the population of a
village increased by 5% and in the
next year it decreased by 5%. If at the
end of the second year, the population
was 79,800, what was it at the
beginning of the first year ?

(1) 79,800 (2) 80,200

(3) 80,000 (4) 79,600

P.T.O.
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64

65.

66.

67.

68.

69.

. = 9o ° 7w 9= s @i
1CV, 5FU, 9IT, 15LS, 170R
(1) 5FU (2) 9IT
(3) 15LS (4) 170R
& Ja B BT 2 ;3 F oYU
q IS HaEAT 5 3 B 7
%|w%amﬁ%qwa§qmﬂ%q:w
(1) 27:20 (2) 20:27
3)4:9 4 9:4
g X F d9d Y & W FeEr
“fgdqt Y, B0 T & O A o
37 g X, W Y § e @R
gefyg & ?
(1) fom (2) &=
(3) 9fe (4) |gx

qull H Y e ST qET g% 9o
H TH TR W B
'HEARTLESS' fha o= drdfe g<at
§ fouiorg fohar o Gk B 7

(1 (2) 2
3)3 4) 4

W qhen #, 27% fErd ofen #
I BT AR 38% fasm # ormt
W, A 19% a9 fawdr o

g, @ 2T fawdt & Il B AR ©

(1) 46% (2) 54%
(3) 62% 4) 81%

fr=1 g Aoft & o wE F

20, 20, 19, 16, 17, 13, 14, 11, 2, ?
(1) 10, 10 (2) 10,11
(3) 13,14 4) 10,9
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64.

65.

66.

67.

68.

69.

Find the wrong terms of the

following series :

ICV, 5FU, 9IT, 15LS, 170R
(1) SFU (2) 9IT
(3) 15LS (4) 170R

The radii of two cylinders are in the
ratio 2 : 3 and their heights are in the
ratio 5 : 3. The ratio of their volumes
are :

(1) 27:20
(3) 4:9

(2) 20:27
4) 9:4

Mr. X said about Mrs. Y, "Mrs. Y is
the wife of the grandson of my

mother." How is Mr. X is related to
Mrs. Y ?

(1) Father
(3) Husband

(2) Grandfather
(4) Father-in-law

How many independent meaningful
words can 'HEARTLESS' be divided
into without changing the order of the
letters and using each letter only once ?

(1 (2) 2
33 4) 4

In an examination, 27% students failed
in English and 38% failed in Science.
If 19% failed in both the subjects, then
the percentage of passed in both the
subjects is :
(1) 46%

(3) 62%

(2) 54%
4) 81%

Next terms of the following number
series are :

20, 20, 19, 16,17, 13, 14,11, 2, ?
(1) 10,10 (2) 10,11
(3) 13,14 4) 10,9



70.

71.

72.

73.

74.

TH a9 » QUi k9w 7 13
fFft X g @ fRem § 28 Rl A
I &Y B §R 5 HS &H WY Al
Bl U T o ?

(1) 1v5 st /g0er

(2) 2 THt /a0er

(3) 2V fept /aver

(4) 3 fpet /aver

I =M 1§ 100 9% F G QU
foraar &, @ a8 fhae SR 3 foraar ® °
(1) 19 2) 11
(3) 20 4) 21

A, B3 ggrd s@s C X D, E @
RIUEAMCHTIA T E AR
C,BA g g a = & & a4
HIT TETH &9 ¥ FT R ?

(1) A, C q 931 Bl

(2) C,D ¥ eI 2

(3) D,C ¥ 31 &I

(4) E,B @ =T 2

M, T, R, K 3R D & 7% &% o
AT R, M Bad T @ BleT 8 8iX D
dad K @ o« 31 39 9 dEa 999
qaT Al B BT ?

(MHmT @D 3)M @R

() -)

RO H T T B
)
4 3
11 1
ey 25 2) ZE
11 1
el 4) 3—
3) 312 4 312
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70.

71.

72.

73.

74.

[A]

A man rows upstream 13 km and
downstream 28 km taking 5 hours
each time. What is the speed of
water ?

(1) 1¥2 km/hr

(2) 2 km/hr

(3) 2%2 km/hr

(4) 3 km/hr

If Shyam writes down all the integers
from 1 to 100, then how many times
does he write 3 ?

(1) 19 2) 11

(3) 20 4) 21

A is elder to B while C and D are
elder to E. E lies between A and C
and C is elder to B, then which of the
following statements is necessarily
true ?

(1) Aiselderto C.

(2) CiseldertoD.

(3) Diselderto C.

(4) Eiselderto B.

Among M, T, R, K and D, each
having a different height, M is shorter
only from T and D is taller only from
K. Who will be the third tallest person
among them ?

T @D G M @R
4 4
(3 -z
4 3
2 2
(3) -z
4 3

The square root of

is equal to :
11 1
1) 2— 2) 2—
(1) ) (2) )
11 1
3) 3— 4) 3—
3) ) (4) )

P.T.O.
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75.

76.

77

78.

79.

ufyem fem & R B SHH 9E B
frg Ram & & ?

(1) T (2) aerT

(3) uiR=m @ w

A A0 A X B TH T@H @l

T § HAST: 30 R 36 e o9 E

A @ FHF dT HA AMT f6 @l 18
e § o T X A ?

(1) 15 Mo & &
(2) 12 o & 9=
(3) 14 o & T
4) 16 fio & 9=

10% dqi¥e &9 & X STEdiye
THgiE B T 800 HUA H Th TR
926.10 59 fhaa a9 § I SRAY ?

(1) 399 (2) 1% a9

(3) 45 T8 (4) 299

8, 15 &R 24 9 fawif@ 2 ah
A T HE R B

(1) 120 (2) 1800

(3) 3600 (4) 6400
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75.

76.

77.

78.

79.

After 5 years, father's age will be
three times of his son's age. 5 years
ago, father's age was 7 times of his
son's age. The present age of the
father is :

(1) 40 years
(3) 50 years

(2) 30 years
(4) 45 years
A man is performing yoga with his

head down and legs up. His face is
towards the west. In which direction

will his left hand be ?
(1) North (2) South
(3) West (4) East

Two taps A and B would fill a tank
completely in 30 and 36 minutes
respectively. Both taps being
opened, find when the tap A must be
turned off so that the tank must be
just filled in 18 minutes ?

(1) after 15 minutes
(2) after 12 minutes
(3) after 14 minutes

(4) after 16 minutes

In how many years will a sum of
Rs. 800 become Rs. 926.10 at 10% per
annum interest compound half yearly ?

(2) 1% years
(4) 2 years

(1) 3 years

(3) 4%z years
The least square number, which is
divisible by 8, 15 and 24 is equal to :

(1) 120 (2) 1800

(3) 3600 (4) 6400



80.

81.

82.

83.

84.

I 6 YT A f9hT gd, 8 Al & A
lﬁg%w%,a‘rwmﬁrrrﬁraﬁ
qe:

() 25%@™E  (2) 25% =
(3) 33%%31% 4) 33%%@1

BRI & 9 TMed 62 W9 fad
RN & TIH (STeE) BN © 7

(1) far e

(2) T Gk

(3) dlo A= @

(4) o dlo THo U0 FHRE

BRA 3G FHRH & U B © 7

(1) M= AR
(2) FE I
(3) =X B
(4) g 9

eI § W gHE @ U del
srafted § 7

(1) BEER (2) QHgd
(3) oI (4) Aedd
HETAT Qal 4 @O Y fqoidr @

BRATT TR S & 99 drll JEpd
T

(1) I Fg
2) A B
(3) JaedX d™E™
(4) ST HS
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80.

81.

82.

83.

84.

[A]

If the selling price of 6 pens is equal
to the cost price of 8 pens, then
profit/loss in percentage is :

(1) 25% profit  (2) 25% loss

(3) 33 % % loss (4) 33 % % profit

Who is the Chairman of the newly
constituted  6th  State  Finance
Commission of Haryana ?

(1) Vikas Gupta

(2) Rajesh Khullar

(3) P. Raghvendra Rao
(4) T. V.S.N. Prasad

Who is the vice-chairman of Haryana
Urdu Academy ?

(1) Gopichand Narang

(2) Kumud Bansal

(3) Chander Trikha

(4) Suraj Bhan

Where is the palace of Begum Samru
located in Haryana ?

(1) Faridabad
(3) Gurugram

(2) Sonipat
(4) Rohtak
The award is given by the Haryana

Government to the gold medal winner
in the Commonwealth games :

(1) Three crore

(2) Two crore

(3) Seventy Five lakh
(4) One & half crore

P.T.O.



[A]

85.

86.

87.

88.

89.

90.

1857 % foEle & RN Asad @
foreedier @I o ?

(1) 999 Rres
(2) S=go &
(3) TsH A=
(4) TS

g &, N 6 T ) WS ©

(1) =T (2) et
(3) A (4) =N
ferpy i@ eRaem & 9 B #
Reg 2 7
(1) J&d®
(3) HEA

(2) Gl
(4) B

ERAN fqurae, St SteeE 2019 &
IAEl & T Tod B T OB

(1) 124t (2) 134t
(3) 144t (4) 154t

e ®ITE @ B & F fhH U
@R § T (6 @ 8 7

(1) AmEe e
(2) ST A
(3) g TE B T ST
(4) F¥E< AR

frg TEX & IR M Fe o ?

(1) =g
(2) ST
(3) BUA

(4) QI
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85.

86.

87.

88.

89.

90.

Who was the Collector of Rohtak
during the uprising of 1857 ?

(1) Thomas Semton

(2) W. Eden

(3) Adam Loch

(4) Hudson

Rivulet, which is one of the tributary
of Ghaggar :

(1) Chautang
(3) Dohan

(2) Sahibi
(4) Indori

In which district of Haryana 'Tikkar
lake' is located ?

(1) Rohtak
(3) Karnal

(2) Panchkula
(4) Kaithal

The assembly of Haryana, which has
been constituted after the election of
October, 2019 :

(1) 12"
(3) 14"

(2) 13"
4) 15"

Vinesh Phogat is recently honoured
with which National Award ?

(1) Dronacharya Award

(2) Arjuna Award

(3) Rajiv Gandhi Khel Ratna Award
(4) Dhyanchand Award

Which city has its ancient name as
Kanaud ?

(1) Mahendragarh
(2) Ambala
(3) Kaithal
(4) Sonipat

Level-3/9201
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[A]

AN -1V / PART = IV
&= / HINDI

e : Fr=if&e 7971 % G 37 % [ qaq ST ey g

91.

92.

93.

frr & @ 777 df-faede ® -
(1) T = Jral + ST
(2) [qaETE = [qar + e
(3) SIBRA = T + BEA
(4) gy = W + frge

(1) o § P g 65 fomea &
- feremmE

(2) Ui ded aF ", HA-H
SERIN] - duh

Q) T & dfgama I T
ESESIEY
¥ = ARee dfS SEE 9ER
M| ~ ORI

(4) =T % S9 o@d a9 | d8 &
qEl D SHE

T Yot § =R @ A g A

%l AN
- it

“Afer e el T el ey 30

TG PreA-dfRal ¥ SISt

P D1 WS © 7

(1) SAgE  (2) BT

(3) I (4) T
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94.

95.

96.

fr=ifoife & faQieor Sy & -
(1) 2 geo JaI, Hig M T4

(2) & e ©q &, Jer FgHIA
9 a9 T B

(3) P o ¢ w® 8, a' § T &
(4) oS 7 FaT 6 F ot T S

AT BT & Hag § HH-G1 HIT TRl
7 &7

(1) g8 W% 99 8% B

(2) 38 TA% W & 24 HEM B
2l

(3) T # TE () BN B

(4) 13,11 WX 3y & 2

ST B U HE FEA H B
9 ® -

(1) LA HHRAT & HRARST
(2) USRS &l Feeagraar
(3) g& I IJUCH

(4) IIA FEER

P.T.O.
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97. i fomcy 4 ‘Brafader wgw 787

98.

99.

g R 7

() ¥ 980 @9 W 98
Il

2) ¥ S & Rl ST W@ gl
(3) I8 o1 ST STES I« T
(4) 98 g gfcmE Bu B

‘HTAAET: BT A o1 -0
H Je IRAN T B A A=
¥ _

(1) ame
(2) =
(3) faeary
(4) TR

A JEE HE B DA A 66
e SThEHl ¥ JREd © 7

(1) 7T ®&Aa
(2) =6 & 3@
(3) PremrrgE
4) g g T
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100.

101.

102.

‘G Higal & DR & -
(1) 99 S5
(2) FJUS

(3) AT
(4) FiReTgAR AR

= A HIF-Al WA ACTAHS 78
g7

(1) Hifcierar
(2) SEded TE
(3) focruE =

(4) T T

TEHERIATT ]

I kG

W-faygs 98 @I B9 omerd @
g7

(1) g
(2) 9%H
(3) 77e

(4) fagamg



103.

104.

105.

106.

fr=rifhd & @ ®F-91 9= gog Wed
g7

(1) SaR

(2) AR

(3) "I

(4) Treba

Frer & @ fhg faees d g SuEd
YR BN § ?

(1) €=

(2) g

(3) @&

(4) EHR

3q X 68 34a1 FArd W@ AW @ ?
(1) or7d

(2) =i

(3) &

(4) I

= A e e § @t g gof’
g7

(1) ®, &, 9

(2) G, oM, ©

(3 Mg

@93
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107.

108.

109.

[A]
aedft Oy & ddg § dH-A1 FU @
7 T ?

(1) I8 &= %l qar| Afa - &l
(2) 98 IR, HHT e W@ & fo
SUGHT Bl ©

(3) TOH QMRS TEERl @ JEw
Bl B

(4) T8 "gd o1 g9 G B

fr=tifeed e/t X e ifvTg -
(37) e () aamER (|) TETE
(3) onfirdt

9 9§ B9 9= © -

(1) Faa (31) 3R (3)

(2) @ () 3R (4)

(3) 3 (9) 3R (3)

4) i

ifehel SATSTel|

HOIT YT BT el Al Ml S
EIEEIK

S HreA-Uiral § HN-T1 65 ® °
(1) e

(2) iferenr

(3) eiticreht

(4) |
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110.

111.

112.

= § fRE Al /e & oo

ST 7o & ¢

() ‘©h 8Y § dqil & T -
ST HE HT o

(2) ‘Sl B AT F S - Fell Bl
9l ST =Ry

(3) ‘Fst fafean weAmAr - TR A
B ENASIEESE

(4) ‘i@ & s BN - T WM W
Rex 7 @

T 9 fhd oRm W a=-efE @

WM W ‘UE-ANR I8 H T fHar
g7

(1) ame

(2) H9E

(3) TuE

4) fasa=my

T4 ¥ b g ¥ g fa9er
TR GO & 7

(1) I8 9 & HIH 2|

(2) I8 TSH TTel AT

(3) TRl @l geER HHE H
(4) =9 & 99 PR 9
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113.

114.

115.

HA-AY o GEfd HN-Ar faeed

ghfaa 787 8 ?

(1) ST MY F 91 Hel, SFeig oA
B g adll - I

(2) HiA] YA H IFHA FAA Dl
|

T S 699 H g
AT | - 3R

(3) T TN B aRA, a8 Qi T
- gop
(4) T T A A, A B diew
afa - gl

9 4§ 59 o I FeE-eg & &
T gfas B & THAE B A8 7

(1) Tue
(2) T
(3) “eq
(4) HHE

‘W N9 Y H U TH d fh9
Teg-faen &l @ B 7

(1) Raas
(2) ®EM
(3) I=AT-gadid

(4) HE



116.

117.

118.

9 9 g ioem-aas 1 B At
B HE-HT D M X AN qUIHH
% ATAR TET a8 7

(1) af g are

(2) REafiE &R

(3) BrEs

(4) MEy

- 8 el SiF-a1 fawe
gAfea 7@ & ?

(1) AT &1 o - RageH de™
) § it forea € - o=

(3) Té AT Feril B B [ - AY
hiehi AT

(4) SifSt 999 @ A - HHALAT

M & fFg faeew # Ted e
ATChHR GHT 787 o

(1) oMY AL - Hred ThHA
(2) TAREE - AEEHREE A
3) e - eEIgEn

4) I - FRg AR

Level-3/9201

[25]

119.

120.

121.

[A]

@ SR EEeR | dEfa Se-a
ferea gafaa 7&7 @ ?

(1) Sl &l gfreaty - e J6E
(2) HYE % Th T - TR Hed

(3) R TTE™ - ARFAIT T

(4) Gfedt T & AT - gL A
T

g g & v Lga ke & g
gre gs-qT & & orere,e a7 &
grerEre !

SH weE-UmE FRer @ e

Higar § Heplerd 2 7

(1) &
(2) BB

(3) freg®
(4) ST R 0% S)

‘G4 Bl # e T OB @, e
arot fafy & o S-S
g OTEN T B AR qEaH
MR § UEd Ol WRAAy & a9
JA-UREH Uid bl AT & T’ B
feperepT B 7

(1) RrspEe

(2) fafcrm e

(3) BraEs

(4) PR T

.......
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122.

123.

TEER TOE I99d & v § @e-|r
HIT el FET & !

(1) S8 & 9 1 g fham

(2) IR A AR qal B E
R T

(3) SN HEAA B AW F [T
SISTSTYT <l e fopam

4) 9’ & WeEq 9 SN
THHIRAT H AT @& qH- @Il

‘T gamzT & [ g R 78 gwar

g d g o 7 oY & g

WA Y a= s U agw
g R ?

(1) gmeniat & o
(2) Ma-dEd & i
(3) TfeEdN & T

(4) sHifqeRIEl & fore
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124,

125.

T § H9-91 FYT GE &S ?

%l

() amd & FAJER &L

fafrsedt it X SeRa 2 B

(2) F7® AR (AF) 1 MR Ha
€I T8, a8 I A B

(3) e 7 AT B A 9 - Feft ol
M 79 2

(4) &5 7 A 3 Fft, N, v
AT A 9T 91 B

Y § HH-91 AT G R ?
(1) ARG & T H SRR
femar ST R

(2) AL FrEE B AR /AR
% G st garT & S 2
(3) EINT = & dE§y H W
ARBNT B are T ATERE

FHeEA ol
4) o qOM W A IO ged
Uhae &1 SR R ST B



126.

127.

128.

129.

a9 IR @ @ Ao R -
(1) 9]

(2) T

(3) A

(4) BB

3 9 g gmiee qe # gded a9
7 ?

(1) E-Se

(2) Gi-4r

(3) 99-9°F

(4) AT

W W & g€e ¥ CRE-gr =
SEEXl e ST A e e © 7

(1) ¥eedere

(2) 9%H

(3) HEEES

(4) ST

Frrtifee & SROTRiE o1 787 © -
(1) |HEAT

(2) e

(3) gearr
(4) ST
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130.

131.

132.

133.

[A]

faQer & a9 AaarEs |99 -

(1) ==

(2) TAgHIT

(3) A

4) ITE

X AT P F OTAE TH B
g7

(1) feperren

(2) AT Y

(3) Pl

4)

gerdic IS U9 & qud-fawg
g7

(1) M &I AT & =

(2) YA Bl BT =R BT

(3) aAet Sta-ferer

(4) ALH FH BN =T

AfFTpeil  FO-HH & GET  H

HY-AT FHIT & T&T & ?

(1) I8 AR o &Y F N ™
2

(2) 56 gaie BF fAvg e
: | EQ i L

(3) SNfHiT FT-HA Micaar # W
g

(4) o8 METaEr B AW qew R
T 2
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134. T IE-FT & G99 H IH 9

135.

136.

BT FIT &l T&@ 8 7

(1) 9T & WX oMEa 9 &}
Paq ot gX omeniRa & Bl

(2) S A TR Th § A
AT P FSAT HAE S Tl B

(3) T& AL A7 FEIOM @R STHHIA
&Y HI TG HT Al 2

(4) &S @R UERE o @
g ot FRd R

S § B9 I g e !

(1) I8 o= &l IN-9R J&is 2 al
(2) T3 SUE AHT G Bl

(3) TETAT Ml BT I T FHA @
@) i TS T H f fe

ERC I L I Rl R Cl o
g 7ef 8 ?

(1) T

(2) T

(3) TR

(4) I1ig
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137. YR & WS g’ HE fEw H

138.

139.

-y ® -

(1) A9 & g O B Saria
(2) GF-UH ¥ JEE B AT

(3) e id-Rarst
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FYT el
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(2) FreprEEe
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(2) fao7 =t
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(4) HAR gd
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143.
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145.

[A]

R & 39 @ HIF-91 T e
@R § TG 8 7

(1) o

(2) Fash

(3) fgeree

(4) g

e FE BH”

59 e Ul & AR © -
(1) ®ER

(2) gIHia B Frer
(3) g™

(4) el geeE

B & & & feaet Sifer e
g7

(1) 8
2) 9
3) 15

4) 18
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146.

147.

148.
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de § HHierT ¢ ?
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(2) S % T
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(4) oI % el
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(1) B

(2) THER AT

(3) & JEmE gfaadt
(4) TR

Frtifeea & Tegegy @ R -
(1) BT TRt
(2) HEHER
(3) HIES

(4) Tof TR
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149.

150.

Ru T e & weEar & Fid

TS AR @RI B GART T -
T TR

(31) Wom EoT () 2@

(3) s oMl (ii) &R

(|) Jo-foeme (i) STEq s

(%) @l @@ (iv) TEHTRT

ze -

(1) F-iii, I-iv, G-i, &-ii
(2) F-iv, F-i, F-iii, &-ii
(3) H-ii, I, F-iii, F-iv

(4) -, F-iii, F-ii, T-iv

frer & 9 f59 foew & @ oR
R Al 787 & 7
(1) TERT 4l - fa geqmehT

(2) HH B TG - ST

(3) T I FN AE F& - RGN
Cicon

(4) IO &1 Eiee Qg - i
|
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FOR ROUGH WORK /Y% &4 & foru




U b SR, SR Uoh § uiRd @Ml @1 Pl il 6. Answers to questions in answer sheet are to be given by
wge 9 9 AT 2, orr T S fexamar w2 darkening complete circle using Black ball point pen as

shown below :

® ® @ O @ B ®
(SRRl

3Mq gINT_faar T IR e ST, I IR AT The answer will be treated wrong, if it is marked, as given below :
A BT P TPR A R E & g

i3 o | SUET WHl $ WR T & Al TSI AR Terd If you fill more than one circle it will be treated as a wrong
HET ST | answer.

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. X% B ‘;I'S:I—gﬁfidvl H 39 waoN ® fog & TS @rell g W& BN | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bacl OMR TR T3d WR 8l 3ifdhd P | 30 IR LIHYdd 3Afhd B | IR G 2g 29d Joid (Ahe Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. UAE T & fore Ry T g Rwedt # 9 3Ifaa fawer & fow OMR STR 956 W &de Uh gd &I & T RE Blof ard

wEge U9 9 W | U6 IR SR Afhd F9 & 915 99 gl 78l ol AhdTl ¥ 1 (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gad o {6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M 7 M | 3pgedi 301 IghHld SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT Td IR TS BT SAFYED JANT By, Fifd & aRRefT # (se—gRaer wd SR v9@ & HAie 3 e
o1 Rafq &1 Breaw) E;\Hﬂ U Eﬁ?ﬁﬂ e SUALT T8l FHRATS SITgT | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

W—W/W CEC fev U HHIG BT et TE TN I sFER de H ford | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

ameﬁaﬁqﬁmgm/amﬁmwsﬁ?mﬁqaa§aﬁrﬁaﬁﬁﬂﬁwaﬁm |Jrl, gfad A1 sRforiad BrTSl Bl
Ufedf, SR, AaIgd WF, Sdgiie UG I B 3 UBR B GEEH DI of S AT STAN HRA DI AT T8I © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TIed gRT I8 oM W UAd gl 30T Y%l & (I o) 3R Ugamd U= =i | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT wded B A SH‘T% P 77 DI el QAT I 7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PIRIRT YAAETH BT YOI STR UAP (U a1 v BeeR a1 WR IIART SRIER by {41 angedl uller sfe el uisi | afe
PRl ongefl 7 g AR BRMER 91 W BWER T8l by 1 I8 AF1 oMQ b I SR UAG T8l Al § AR I8
JfAd | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat gmr 9 w19 & o &1 feme
wrrmméligwmﬁsmmwwmmmﬁwmﬁswﬁﬂﬁmmﬁammmhmaﬁ
AT T A g8d 8 g 7 8 §gd | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagih / BTalferd URded & SUANT affd 8 | (Use of Electronic/Manual Calculator is prohibited.)

e 8T § SR & oy, sngefi fGarfrer § & v uftar /Ry g ars & @ el v fafaEr o ey eam v |
g WREl & W AWl @ BEen dis & Ml Ud fafRmi & SR BN (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W w9
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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